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y = 62— 6 ZCt Of2Ho EXHE &3k OfL2} /' (1) = 60IC,

flo)s FDRBO| ALTt 191 OIRBA0IBR f(x) = 2® +ax+ D2 YHHAS X3 CIZ

F(0)==3, f(1) =02 4501 o, bE TI Bt

J2iLt Hats AE0| HAIEIUODE #0|342 BREHE SBHOE AS XNE 4 L

ET: 5§40 DT M HoHs HBOIN X0ISEES 08513 2T B4Ale e
2 ouct

E|DRFSO| A7t 191 O|RFSt: y = f(x)Q] T2HT} ZIM ¢y = 62— 60| 2 = 10M MZ H5}
02 f(z)—62z+6=(r—1)°0|Ct X2t 0] AR f(0)=—50|22 ‘XA f(0)=—3'2 ¢
HHSHCH

3) f(x)7t MRSl AL
StAE RMGIRL f(z)—62+6=(z—1)*(z+a)
f0)=—32xFMHa=3 .. f(3)=36 T2 DI
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~— CGIH(10) 118PdE 62 BIHA 15¢

NS fla)=alr—a)lz—8) (0<a<p) F 2T a, boll tsto] & g(2) &
glz)= fla)+ (b—a)f'(z) 2L &2}
a<0,a<b<fd , & ATE <BI]>o]A Y hE L2 AP [44]
<X 7]>
. zoll i WA g(2)= fla)E A2S 2t
L. g(b)> fla)
=. gla)> f(b)

y=flx) /

@ 7 @ v ® 1, u @ . o L
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MAEE flo)e 20D 2EUS JIKDE WA f(2) =02 M2 [I2 & AZS XL

et 0 et WHA glz)= fla)= A2E =L (0)
2. g(b) > fla)

g(b)> fla)

fla)+O—a)f (b) > f(a)

(b—a)f'(b) >0

b—a> 00|22 HEAQ| UHS (h—a)2 LM £/ (b)>0

a<b< B2 OIESH= b0 sl £/ (b)= 2%, 0, Y4 BE S JHE 4 Ut (X)
3. gla)> f(b)

gla)> f(b)

fla)+®—a)f (a)> f(b)

f(z)9 z = a 5E| ¢ = bNIX|Q| WRHSLE ZA0| =0 S0{Qt0f BiCt.

(b—a)f'(a)> f(b)— f(a)

b—a> 00|22 HSAO| S (b—a) 2 LIFH

f’(a) > f(b;:i:(a)

y=f(z)2 JHEZ BESIH 2 =a0MQ y=f(2)Q DIEARE T & (a, f(a)),

(b, f(b)2 XIL7H= E|Mo| 7|27|2LCH 84 ALk (O)

y=f(z)
(0] b B x
22 72 1, co|tt
=2 @l
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